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= = < % AN = < 5 AN b = = YA\ = Y b = =
&5 K 4 .(:.—,ma; Tinﬁb\(z)wﬂﬁ_ﬁﬁ 73(35:?%)3 R 4 Thﬁﬁzg;k? 'Z'n%{ 73(33%‘5 R 4 .(Er,s Liﬁh(z)a)ttﬁ 73(&3(33 R 4 Limb(zf)ttm .Z,j 73(&3(33
7 100kN/M%E#B A5 — -~ - —|3mEBRB — ~ — — — | 100kN/mi%# 8% % — - ~ — —|3mZEEBAD - ~ — — -
zh st 1.00 1000 ~ 476 59.33 | NS | 000 ~ 476 1.77 9.46 Th st 1.00 | 5.00 ~ 5.00 59.33 | #hds | 5.00 ~ 500 | 1.77 9.46
2 100kN/ M%E#B 2% — -~ - —|3mEBAB — ~ — — — | 100kN/mi%# 8% % — - ~ — —|3mZEEBAD - ~ — — -
zh st 1.00 | 0.00 ~ 694 87.98 | Fhs |0oo ~ 694 1.84 9.85 Th st 1.00 | 500 ~ 873 87.98 | Tns | 500 ~ 873 | 1.84 9.85
3 100kN/mZE 25| 1.00 | 000 ~ 027 10393 |3mEBZD - ~ — — — | 100kN/M%&#2% | 1.00 | 1072 ~ 1143 10393 |3mE#ZD - ~ — — —
ZFhlst 1.00 1027 ~ 805| 100.00| FThis | 000 ~ 805|229 12.24 Th st 1.00 | 5.00 ~ 1072 100.00| FThs | 500 ~ 1143| 2.29 12.24
4 100kN/mMZEB 25 — -~ - —|3mEBAB — ~ — — — | 100kN/mi%#8% % - - ~ — —|3mZEEBAS -~ — — -
zh st 1.00 | 000 ~ 674 85.13 | Fhs | 0oo ~ 674 269 14.41 Th st 1.00 ] 500 ~ 1161 85.13 | Tns | 500 ~ 1161 269 14.41
5 100kN/M%E#BZ%5 | 1.00 | 000 ~ 021 103.05 |3mEBZZ| — ~ — — — | 100kN/Mi%E# 23| 1.00 | 1094 ~ 1150 103.05 |3mEEZ3 - ~ — — —
ZFhilst 1.00 | 021 ~ 799 100.00 | £hs | 000 ~ 799| 234 12.51 Th st 1.00 | 500 ~ 1094 100.00 | Fhs | 500 ~ 1150 2.34 12.51
g 100kN/mMZ&EBZ%5 | 1.00 | 000 ~ 164 125.02 |3mEBRZS - ~ — — — | 100kN/mZ#BZ% | 1.00 | 1062 ~ 1611 125.02 |3mERBAS - ~ — —
Zhilst 1.00 164 ~ 942 100.00 | Ths | 000 ~ 942 2.45 13.12 Th st 1.00 | 5.00 ~ 1062 100.00 | FThs | 500 ~ 1611|245 13.12
7 100kN/MZ&#z25 | 1.00 | 000 ~ 102 11536 |3mE#8z22| — ~ — — — | 100kN/Mi%E# 23| 1.00 | 11.33 ~ 1454 [15.36 |3mEEZS - ~ — — —
Zhlst 1.00 | 102 ~ 881 100.00 | #hst | 000 ~ 881 240 12.83 Th s 1.00 | 500 ~ 1133 100.00 | Ths | 500 ~ 1454 2.40 12.83
g 100kN/MZz#z25 | 1.00 | 0oo ~ 008 101.11 |3mEZBZ| — ~ — — — | 100kN/m%E#Z% | 1.00 | 1575 ~ 14.01 101.11 |3mE#Z% - ~ — — —
ZFhlst 1.00 | 008 ~ 786 100.00 | Ths 000 ~ 786 261 13.99 Th s 1.00 | 500 ~ 1375 100.00 | Ehs | 500 ~ 14.01| 2.61 13.99
9 100kN/MZEBZ5 | 1.00 | 000 ~ 133 120.20 | 3mERBZD -~ — — — | 100kN/m#E#BZZ| 1.00 | 1204 ~ 18683 12020 |3mEBZS - ~ — — —
zhust 1.00 | 1383 ~ 912 100.00 | #ns | 000 ~ 912 2.69 14.41 Th st 1.00 | 500 ~ 1204 100.00 | Fhst | 500 ~ 1683 2.69 14.41
10 100kN/mMZE#BZ5| 1.00 | 000 ~ 180\ 12765 |3m&8z25| — ~ — — — | 100kN/Mi%E#BZ23 | 1.00 | 1080 ~ 1707| 127.65 |3mEEZ3 - ~ — — —
zh st 1.00 180 ~ 958\ 100.00| Fhdst | 000 ~ 958 251 13.42 zh st 1.00 | 5.00 ~ 1080 | 100.00| Fhs | 500 ~ 1707| 251 13.42
11 100kN/mMZE#B25| 1.00 | 000 ~ 177\ 12711 |3m&8ZE| — ~ — — — | 100kN/MZ&#z2% | 1.00 | 1132 ~ 1770 12711 |3mZE#8ZD - ~ — — —
zh st 1.00 | 1.77 ~ 955 | 100.00| Fhds | 000 ~ 9.55| 2.60 13.93 zhst 1.00 | 6.00 ~ 1132 100.00| Thds | 5.00 ~ 17.70| 2.60 13.93
19 100kN/mMZEBZ5 | 1.00 | 000 ~ 187\ 12877 |3mEBZB| 000 ~ 019 314 16.79 | 100kN/mM%EBZS | 1.00 | 1263 ~ 2072 12877 |3m&EBAB| 2000 ~ 20.72| 3.14 16.79
zhust 1.00 187 ~ 965\ 100.00| Thids | 019 ~ 965| 300 16.05 zhus 1.00 | 5.00 ~ 1263 100.00 | Fhs | 5,00 ~ 20.00| 3.00 16.05
13 100kN/ M%EHBZ % — - ~ — —|3mZEBZB| 000 ~ 072 365 19.53 | 100kN/MEBZ 5 — - ~ — — | 3mEERB| 1500 ~ 2140 8.65 19.53
zhust 1.00 | 000 ~ 755 96.62 | Ths 072 ~ 755 3.00 16.05 Thus 1.00 | 5.00 ~ 2140 96.62 | ThS | 500 ~ 1500 3.00 16.05
14 100kN/ MZEHBZ % — - ~ — —|3mZz#8zB| 000 ~ 004|304 16.26 | 100kN/mMEBZ 5 — - ~ — — |3mZ&#ZB| 1000 ~ 11.93| 3.04 16.26
zhst 1.00 | 000 ~ 510 6361 | #=nst | 004 ~ 510|800 16.05 zhus 1.00 | 500 ~ 1193 63.61 | FhLS | 500 ~ 1000 5.00 16.05
I5 100kN/ MZEHBZ % — -~ — —|3mZEBRB]| — ~ — — — | 100kN/M%EBZ 5 — - ~ — —|3mZEEBAD - ~ — — —
zhst 1.00 | 000 ~ 745 95.08 | #Fhst | 000 ~ 745| 2.66 13.68 zhst 1.00 | 500 ~ 1190 95.08 | #Fhst | 5.00 ~ 1190 256 13.68
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ﬁ;ﬂg TRZFNBIOBESLNDOKRES TREDEBRILENDKRES TRZEDOBHOBEILENDKRES TRZEDHEFILNDKRES
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16 100kN/M%E#B A5 — -~ - —|3mEBRB — ~ — — — | 100kN/mi%# 8% % — - ~ — —|3mZEEBAD -~ - - —
zh st 1.00 |1 0.00 ~ 573 71.69 | Fhbs | 0oo ~ o000 1.72 9.19 Th st 1.00 | 500 ~ 6.40 71.69 | Ths | 500 ~ 6140 1.72 9.19
17 100kN/ M%E#B 2% — -~ - —|3mEBAB — ~ — — — | 100kN/mi%# 8% % — - ~ — —|3mZEEBAD -~ - - —
zh st 1.00 | 000 ~ 473 58.90 | #n4 | 000 ~ 473 | 1.80 9.65 Th st 1.00 | 5.00 ~ 5.00 58.90 | =hdst | 500 ~ 5.00| 1.80 9.65
100kN/M%E#B A5 ~ 3ImEEBAD ~ 100kN/M%EEBZ 5 ~ 3ImEHEADL ~
zhlis ~ Zh st ~ Zzh st ~ Zzh st ~
100kN/mMZEB 25 ~ 3mEEZS ~ 100kN/M#EBZ 5 ~ 3ImEEBAD ~
zhlis ~ Zzh st ~ Zzh st ~ Zh st ~
100kN/ Mm% Z % ~ ImEBAD ~ 100kN/mM%E#BZ % ~ ImEBZD ~
zhlis ~ zhlish ~ Zzh st ~ Zzh st ~
100kN/ Mm% Z % ~ ImEBAD ~ 100kN/ Mm% Z % ~ ImEBZD ~
zhlish ~ zhlish ~ Zzh st ~ Zh st ~
100kN/ Mm% Z % ~ ImEBAD ~ 100kN/ Mm% Z % ~ ImEBAD ~
zh s ~ Zzh s ~ Zzh st ~ Zh st ~
100kN/ Mm% Z % ~ ImEBAD ~ 100kN/ Mm% Z % ~ ImEBZAD ~
zh s ~ Zzh s ~ Zh st ~ Zh st ~
100kN/M%E¥BZ % ~ ImEBAD ~ 100kN/mM%E#BZ % ~ ImEBAD ~
zh s ~ Zzh s ~ Zzh st ~ Zh st ~
100kN/m%E# % % ~ 3mEHEZS ~ 100kN/ Mm%z % 5% ~ 3mEHEZD ~
Zh s ~ Zzh s ~ Zh st ~ Fhst ~
100kN/m%E#B %% ~ 3mEHEZS ~ 100kN/m%E#B %5 ~ 3mEHEZD ~
Zh s ~ Zzh s ~ Zh st ~ Fhst ~
100kN/m%E# %% ~ 3mEHEZS ~ 100kN/ Mm%z % 5% ~ 3mEHEZD ~
Fhst ~ ZFhs ~ ZFhst ~ Fhst ~
100kN/m%E#B %% ~ 3mEHEZD ~ 100kN/m%E#B %5 ~ 3mEHEZD ~
Zhst ~ ZFhs ~ ZFhst ~ ZFhst ~
100kN/m%E#B % % ~ 3mEHEZS ~ 100kN/m%E#B %% ~ 3mEHEZD ~
Zhlist ~ Zhlist ~ Zhust ~ Fhust ~
100kN/ MZEHBZ % ~ ImEHAD ~ 100kN/ Mm% Z 5 ~ ImEHAD ~
Zhlist ~ Zhlist ~ Zhlist ~ Zhlist ~




